=
I ;g 4. B AD(EBHEE) |5 AD(ERHE-B) |6. ADEBHE-X)
| 2Bk A 5PN 5PN
=T 1 337,190 1 157,002 1 180,188
EFm 13 13,524 13 6,392 13 7,132
= 10 17,577 10 8,334 10 9,243
mEH 2 47,982 2 22,724 2 25,258
Tk 6 27,038 6 13,091 6 13,947
JAlG T 8 22,606 7 11,025 8 11,581
BEM 9 20,907 9 9,714 9 11,193
TiEFKT 12 13,778 12 6,421 12 7,357
mA+H 3 34,313 3 16,183 3 18,130
Emmh 4 32,961 4 15,847 4 17,114
BEH 5 27,513 5 13,261 5 14,252
BLFHET 30 2,584 29 1,270 30 1,314
Z= 4 T ET 27 3,326 27 1,511 27 1,815
H E7HT 28 2,733 28 1,290 28 1,443
2 AT 29 2,631 30 1,256 29 1,375
de)n 4t 32 1,204 32 607 32 687
ERA 33 823 33 391 33 432
=FF 24 3,858 24 1,802 24 2,056
A ILIET 26 3,573 26 1,726 26 1,847
KEHT 23 3,962 23 1,817 22 2,145
T {EHT 22 3,997 22 1,869 23 2,128
KINFt 34 396 34 202 34 194
LNDHET 7 22,767 8 10,797 7 11,970
=% )I | BT 19 5,551 19 2,602 19 2,949
o+ {&HT 16 6,840 16 3,170 16 3,670
)1 BT 14 13,114 14 6,158 14 6,956
5 kN BT 17 5,795 18 2,669 17 3,126
1R ET 25 3,608 25 1,750 25 1,858
BE# 21 5,030 21 2,337 20 2,693
EETHET 18 5,794 17 2,750 18 3,044
PO 75 +HT 11 17,325 11 8,197 11 9,128
X RAH 20 5,095 20 2,424 21 2,671
=ZRA 31 1574 31 749 31 825
oyl 15 11,217 15 5,334 15 5,883
= E 728,276 342,672 385,604
ER ER27E10A1H ER27E10A1H ER27E10A1H
=g ERREE EEHAE EHEHAE
HAT Wwiga wiga wiga
=

A0 (EZ:RE - %)

0

40km




EB7. K AOFREARE (8. AOUFREARAIR: (9. AOFREREIR:
HHETH 4 |42 | 1R) 5) )
| 2Bk A 5PN 5PN
=T 1 334,049 1 155,947 1 178,102
EFm 13 14,239 12 6,771 13 7,468
= 10 17,944 10 8,513 10 9,431
mEH 2 48,056 2 22,922 2 25,134
Tk 5 27,803 5 13,480 5 14,323
JAlG T 8 22,826 8 11,130 8 11,696
BEM 9 21,309 9 9,988 9 11,321
TiEFKT 12 14,295 13 6,770 12 7,525
A+ 3 34,757 3 16,421 3 18,336
Emmh 4 33,789 4 16,319 4 17,470
BEH 6 26,641 6 12,454 6 14,187
BLFHET 30 2,627 30 1,259 30 1,368
Z= 4 T ET 27 3,359 27 1,552 27 1,807
H E7HT 29 2,763 29 1,328 28 1,435
2 AT 28 2,790 28 1,362 29 1,428
de)n 4t 32 1,349 32 630| 32 719
ERA 33 910 33 432 33 478
=FF 24 3,863 24 1,822 24 2,041
A LLIET 26 3,538 26 1,677 26 1,861
KEHT 22 4044 23 1,830] 22 2214
T {xHT 23 4,028 22 1,898 23 2,130
KINFt 34 405 34 199 34 206
LNDHET 7 23,712 7 11,308 7 12,404
=% )I | BT 19 5,753 19 2,688 19 3,065
o+ {&HT 16 7,199 16 3,349 16 3,850
)1 BT 14 13,223 14 6,234 14 6,989
5 &0 T 18 5,906 18 2,738 18 3,168
1R ET 25 3,639 25 1,772 25 1,867
BE# 21 5,182 21 2,422 21 2,760
EETHET 17 6,070 17 2,899 17 3,171
PO 75 +HT 11 17,828 11 8,414 11 9,414
K HEHET 20 5,377 20 2,581 20 2,796
=ZRA 31 1,646 31 803 31 843
oyl 15 11,616 15 5,532 15 6,084
= E 732,535 345,444 387,091
ER ER29%E1H1H ER29%F1H1H ERR29%E1H1H
=g FREAESIRADZE EREASIRAODZRE [FREXSERAODEE
HAT BFEBRTEE WREEBRTERE WREEBRTERE
=

6. A0 (BZHE - &)

0

40km




=]

HETH 2 tg 10. tHaE% 11. HHAE 12. ANO#EE

| % B [ B A QFELSEY) | IER A

=T 1 162,777 20 2.05 34 A 2,003
EFm 12 7,732 30 1.84] 30 A 323
= 11 8,495 12 2.11 29 A 315
mEH 2 22,074 6 218 21 A 242
Tk 6 12,446 3 223 25 A 260
JAlG T 7 11,164 22 204 31 A 327
BEM 9 10,236 16 2.08 27 A 289
TiEFKT 13 7,514 29 1.90 33 A 412
A+ 3 16,523 13 2.10 23 A 249
Emmh 4 14,632 1 2.31 22 A 248
BEH 5 12,947 19 2.06 26 A 273
BLFHET 28 1,508 33 1.74 15 A 107
Z= 4 T ET 26 1,742 28 1.93 5 A 27
H E7HT 29 1,334 17 2.07 11 A 70
2 AT 30 1,304 8 2.14 6 A 32
de)n 4t 32 634 9 213 8 A 48
ERA 33 437 15 2.08 3 A 26
=FF 27 1,739 4 2.22 2 A 18
A LLET 24 1,810 27 1.95 10 A 60
KEHT 22 2,344 34 1.73 17 A 155
T {xHT 23 1,995 23 2.02 9 A 56
KINFt 34 227 32 1.78 1 A 15
LNDHET 8 10,742 5 2.21 32 A 364
=32 )| BT 17 3,134| 31 1.84] 20 A 209
o+ {&HT 16 3,588 25 2.01 18 A 170
)1 BT 14 6,098 7 217 19 A 204
5 kN BT 18 2,883 21 2.05 14 A 105
1R ET 25 1,807 24 2.01 7 A 38
BE# 21 2,439 10 212 12 ATl
EETHET 20 2,706 2 2.24 13 A 73
PO 75 +HT 10 8,631 18 2.07 28 A 300
X RAH 19 2,728 26 1.97 16 A 150
=ZRA 31 778 11 212 4 A 26
oyl 15 5,546 14 2.09 24 A 259
=2 352,694 2.08 A 7,524
EFR ERk29FE1H1H TER29F1 818 TH28%1 A1H~TR28tE12H31H
=g FREAESIRADZE EREABIRAODZE [FREXSERAODEE
HAT BFEBRTEE BEEBRTEE BFEEBRTEE

=

14, B 0

(% (ABFAHREY) )

40km




=]

HETH 2 *5; 13. AOBE 14, HAER 15, FETEER
| BB ANOQkmEfY) [ IBEL % AOFALEY) | JEHL %o (ADFAZFY)
=N 1 1,081.1 1 7.90 34 11.2
EFm 13 57.4 20 3.98 11 20.2
= 14 56.6] 22 389 23 15.2
mEH 3 383.5 4 727 33 114
TiE™H 4 303.9 7 6.20 29 14.8
JAlG T 6 168.5 14 497 24 15.0
BEM 11 745 9 5.74 30 141
TiEFKT 16 53.7 26 347 6 22.8
A+ 15 55.0 3 7.46 28 14.9
Emmh 5 267.1 5 6.99 31 14.1
BEH 21 495 11 5.24 21 16.2
BLFHET 23 355 31 256 2 27.8
Z= 4 T ET 8 1184 8 6.20 5 23.3
H E7HT 2 4231 10 529 32 124
2 AT 17 53.3 21 390 20 16.7
de)n 4t 32 6.9 18 429 12 20.0
ERA 33 55 29 3.21 25 15.0
=FF 10 97.6 2 7.47 10 20.4
A LLIET 26 264 27 3.34 7 225
AEmT 31 128 32 2.38 1 29.8
T {xHT 28 19.0 12 5.14 18 17.6
yNIIES 34 43| 33 2.38 3 26.2
LNDHET 20 50.3 13 498 26 15.0
=32 )| BT 29 17.3| 34 2.01 4 23.8
o+ {&HT 22 37.2 25 3.53 17 17.8
)1 BT 7 1312 24 3.80 19 17.6
5 kN BT 18 52.8 23 3.83 13 19.5
1R ET 30 154 6 6.80 9 20.9
BE# 9 1155 17 438 22 15.4
EETHET 24 30.7 19 423 16 17.9
PO 75 +HT 25 27.8 15 447 8 21.2
X AH®T 19 522 28 3.26 14 19.5
=ZRA 27 19.3] 30 299 27 15.0
=yl 12 61.6 16 446 15 19.5
=2 103.1 6.54 14.0
ER ER29%E1H1H TR 285 TR 285
ﬁ*_l. ERAAABADESR, £ EHERRHRITH TN 1IE§$15“'EAD§% 1IE§$Q¢EAD gﬁﬁ'—'
HAT wHatR. BrxasEtnEs ({R7EE BR1ITHE WEEBARTHE
TR28FE1EROHEAE | TER28E1 ERDIET
= H/T28FE1 18R |/ FR28E1 A1
£ A O X 1000 7£ A x 1000

16, PR

(% (AOFAHREY))

40km




=

R *g 16. £ AOEE 17. EEFRHAORE |18 EHEADOZE
| % | IEGL (% B (% B %
=T 2 12.7 1 59.3 34 28.0
=Fm 31 7.2 25 472 4 45.6
= 9.7 9 52.0 24 38.1
mEH 3 12.5 2 57.9 33 29.6
Tk 8 10.9 7 54.1 29 35.0
JAlG T 12 9.7 8 540 27 36.3
BEM 6 11.1 6 54.1 30 34.8
TiEFKT 29 7.7 28 471 5 451
A+ 4 11.7 4 54 4 31 339
E@m 1 12.9 3 56.2 32 31.0
BEH 10 10.1 13 51.1 22 38.9
BLFHET 33 5.9 32 455 3 48.0
Z= 4 T ET 18 95 17 494 19 40.8
H E7HT 19 9.2 14 51.0] 21 39.6
2 AT 30 7.3 18 49.3 12 433
de)n 4t 20 9.2 20 48.0 15 426
ERA 14 9.6 11 515 23 38.7
=FF 5 11.3 12 51.1 26 36.7
A ILIET 25 8.5 29 46.9 6 440
KEHT 34 47 34 37.9 1 56.7
T 1EHT 13 9.7 31 46.5 13 433
KINFt 22 8.9 27 472 10 43.7
LNDHET 15 9.6 5 54.2 28 36.0
=32 )| BT 32 6.5 33 39.8 2 53.1
o+ {&HT 27 8.4 21 4738 11 434
)1 BT 7 11.0 10 51.6 25 37.2
5 kN BT 24 8.6 24 473 9 438
1R ET 16 9.6 26 472 14 43.1
BE# 21 9.1 15 50.9 20 39.8
EETHET 9 10.3 23 477 17 416
PO 75 +HT 17 9.6 19 48.8 18 416
X RAH 28 8.1 22 477 8 439
=ZRA 26 8.5 30 46.7 7 440
oyl 23 8.8 16 495 16 41.7
= E 11.4 55.5 33.1
ER ERR29%E1H1H ER29%E1H1H ERR29%E1H1H
=g FREAESRAODZE EREASIRAODZE [FREXSERAODEE
HAT BEEBRTEE BEEBRTEE BFEEBRTEE

WMAOIZHSODI5mER [BMAQIZHDD15~64 [#AAOIZHDHB657 L
= BAODEE BAOOIES rAOnEE

16.

FoAORE 0
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~Noo WO
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18

ZHEAQOLEE 0

40km

i3 o ; ;
ETA 4 | 19. EFE{biEH 20. HHEEH 21. AE A
| % | IEGL (% IBGE A IBHE A
=T 34 221.27 1 279,901 1 3,066
EFm 4 637.19 13 12,573 11 71
= 23 391.13 10 15,586 12 71
mEH 33 236.94 2 40,184 4 289
TiE™H 29 319.82 5 23,441 3 317
JAlG T 26 374.92 8 19,117 2 408
BEM 30 314.53 9 17,997 10 74
TiEFKT 6 582.93 12 12,614 16 45
mA+H 31 289.61 3 29,369 7 149
Emmh 32 241.12 4 28,158 6 153
BEH 24 385.69 6 22,898 5 267
BLFHET 3 808.97 30 2,368 14 59
Z= 4 T ET 20 42947 27 2,901 26 12
H E7HT 19 432.02 29 2,404 29 8
2 AT 5 592.16 28 2,503 31 3
de)n 4t 14 462.90| 32 1,171 30 4
ERA 21 404.60 33 790 33 2
=FF 28 326.21 24 3,242 21 22
A LLET 9 518.33 26 3,176 19 25
KEHT 1 1,212.17 22 3,585 17 34
T {EHT 16 44769 23 3,488 23 16
KINFt 12 491.67 34 357 34 1
LNDHET 25 375.20 7 20,624 9 100
=32 )| BT 2 811.97 19 5,108 15 48
o+ {&HT 8 518.41 16 6,295 22 18
)1 BT 27 339.71 14 11,286 18 32
5 kN BT 11 508.45 18 5,185 24 13
1R ET 15 449 57 25 3,179 32 3
BE# 17 43737 21 4527 27 10
EETHET 22 403.84 17 5,192 20 24
PO 75 +HT 18 434.74 11 15,365 13 68
X RAH 7 53950 20 4,698 28 9
=ZRA 10 517.14| 31 1,431 25 13
=yl 13 473.78 15 10,085 8 114
=2 290.84 620,798 5,548
ER ER29%E1H1H ERK29FE12A5H ER27E10A1H
=g FREAERAOEE |REALE EEHAE
HAT BFEBRTEE BERACTHFES WIEEMETR
65m L EAO/15K [12B1BER

= A0 X 100

(%)

45.6

43.8

43.1

40.8

38. 1

35.0

)




